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* Please check that this question paper contains 10 printed pages + 1 map.

* Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

» Please check that this question paper contains 26 questions.

» Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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General Instructions :
(i) The qugstion paper is divided into four sections. Section A,
Section B, Section C and Section D.
(ii) The question paper has 26 questions in all.
(iii) All questions are compulsory.
(iv) Marks are fn‘dicatéd against each question.

} .
(v) Questions from serial number 1 to 7 are very short answer type
questions. Each question carries I mark. Answers to these

should not exceed 30 words.
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(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

.’

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a map question of 5 marks with two
parts — 26 A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the map inside your answer-

book.
@UE-F
SECTION-A
1. lgﬁm%aﬂq@qﬁaﬁamﬁ ECHCIC 'ﬁrmﬁ%{ql
areran

e See a3 afien fra § wiEiferd % dmam 6 s S

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economic development
of Mekong delta region. ‘

2. SO gy BT ) R T gd?
Heran
& wIraAl | ergaTe Wi 4 3uRiE i A g H o
eIl 67
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?
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3. gwma § s fiend s frefieror 3 fore 8 soerh 27 1
HIET
e Famm - Frefior & fore 39 saer 27
How is over irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?

4. USHIfG w9 8w ARG g SieRdiiEe GUr S fore S gemd €7 1

How can democratic reforms be carried out by political conscious
citizens ?

5. e awier wSigl o fog IR S % way § faehng e e 2
Tl 27 1
o |
ST o G, foReT ot ferenmar s @& 1 B Gehal 27
What may be a goal of landless rural labourers regarding their
income?
OR
What may be a goal of prosperous farmer of Punjab?

6. ‘wafher va ‘fgciaer ameni § oot wyw A 1

Distinguish between ‘primary’ and ‘secondary’ sectors.

7. Seh AYGT IUTETT 0l & dgel Hrefer ML &) 7FT 11 i &7 i

Why do banks or lenders demand collateral against loans?

Qug-9

SECTION-B
}

8. Sriifer A e A wiehe Fre & st A A frg s R
TRIT? JETENOT gfed s HIfS) 3x1=3

HAAT
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ferraam <t enfefer ymifq & fou ndier dim senstt < seel ofiq
ST s

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

9. =t oA R YRR & G ok gfd w1 wed a1 Seras s
@17 3eTE afed e i) 3x1=3
areraT
9 I v F A surE R veR A F fag gervar @
3UCTeY] Bl 18 97 3aTeU |igd SAme Shifv

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

10. "Gt e g Y e <t g ferswanatt s ada i) 3x1=3
HYAr _
"l e g i Rl o g feanatt e aofa fifdg
Describe any three main features of ‘Rabi crop season.”

OR
Describe any three main features of ‘Kharif crop season.’

11, “wrE # foere R wedt shEe el Y geldar i afomm 8@ wwdt
21 39 e o1 farvervr Aifsm)  3x1=3

“Water scarcity may be an outcome of large and growing
population in India.” Analyse the statement,

12. ““forelt Sremaifen 2w o wmriven fafireraneti w St 3 v wmr ag @

3R ey oft 81 wad! 217 Tt wfed 39 e o gy A 3
- rerET
E5E
&
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gt forre TeEfe SR gwifa w317 39 e o qug i
“The assertion of social diversities in a democratic country is very
normal and can be healthy.” Justify the statement with arguments.

OR ,
“Social divisions affect politics.” Examine the statement.

13. "'9Rd # AT % W @ Afgensit f foufy § go guw gen R, W
apeft oft geul @ et 1S 177 39 o w1 faverwor Fifdr | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

14. R ¥ THifos gl w0l 3w e asta ud adie ae % w9 § qeran
freret 87 Serewn wfa sawen Hifsw) 1%4+1%=3

How are political parties recognized as regional and national
parties in India? Explain with examples.

15. ““valeae § free & oo udte oft e dnett @ e T w @
T YA I AT 38U | 3
“Consequences of environmental degradation do not respect
national or state boundaries.”’ Justify the statement.

16. WA H ‘qeliae & weeaqul #4181 w1 27 Rl ol ol i s
Sifer 3
HAAAT
farelt 91 % weheT o] Icure (S ) s1a = % forg fafarer aeger
3 HaTT 6l o Y R §7 Ierer gfva wow i |
Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.
b OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.
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17. 3ifele fosma o =wvr o afto=niies @Yl % geea &1 vl Fifm| 3x1=3
STAST
ST 0 % Bl 1 FSiaRl T I aret L TE) & avi Hifr)

Describe the importance of formal sources of credit in the

economic development.
OR
Describe the bad effects of informal sources of credit on borrowers.

18. 3R &1 ‘arfogfd framor’ & sifrer @1 39T 3R weR = HeRd
HESEURIGE eI s 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

LCLESR |
SECTION-C
19. 1930 ¥ frem zfordi = ‘efyg ot waifyoem’ o anfaa frn? g
IucTfedrat 1 9ol shifsm) 1 +4=5
AT

‘gl sra arEeH vise @ qiie fife| ‘gfimg sam s’
R R e foRe werat 1 gewiiar s avia Fifu)

Who had  organized the dalits into the ‘Depressed Classes
Association’ in 19307 Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

20. ‘I wraredt it forva srefeaareu 1 w9 9w H WA SR 3 U
aTen IfireT a7ar 1 oft |’ 3 o o faraor i) Sx1=5
YT
"dfiedl sTdTedt % UBet €T aeh YR H e 1 @Ey 8 s
1 =Ue | 371 TR AT| 39 he i fergeryor i)

— EEE
O&im
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21.

22‘

23.
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HUAT

‘g et § iR 3 Tede ¥ T T UNE S 81
e 3 Fard el # 3 shem o farvereor Hifsm) |
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

are B 3En ater e # v e er e €7 3amwn
gfeq ws Hifs) 5x1=5

How are industries responsible for environmental degradation in |
India? Explain with examples.

‘s 1 T qitaed, Yot aiEed &1 e sifie glauses 717 e
= 3erel afgd gE A Sx1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

feorfal, TR B EEHeR TREe & SR Wt s o i A
fearfa & g Hifs| 1+1+3=5
Srera

HrErert o7 e 3 TR TTET? W €Y @ i T ol wrEer %
faftrs wwai it sure fifsw)

‘Compare the situation of Belgium and Sri Lanka considering their

location, size and cultural aspects. .

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

:



24. TaR 3 AY WEA F &Y § ArRdiEg F9€dT & He H aUH
iy 5x1=5

Describe the importance of democratic government as an
accountable and legitimate government.

25. SUPN FufET Ieared o forg Frter S FREHi e fefing &
1 €t ot wnfig st 27 foreell afar sl &1 s ifs| 5x1=5
Why do multinational corporations (MNCs) set up their offices and
factories in certain areas only? Explain any five reasons.

Qug-9 (AHfEE 99)
SECTION-D (Map Question)
26. (A) @ @& A 3R B fau v wyra & usHifow Tar-aetes 1 sl
fopw u ¥ | T Sei o fefifad seel Y weEar ¥ ggsig
3 I wE T g Wi 78 et w fofgu- 1x2=2
(a) o€ T &l YR TEH HIUH shl AT g1
(b) a8 TR & SAferatarer T i TeA g8l

v L [a

(B) 3t fou o v & ueHifees T@r-wmfas | frafafea 3 @ e
i <1 3ugh faal @ qerisy iR 3k A forfa; 1x3=3
(i) HeTTaFH ~ AT Hel| I
(i) TR - &t 31 3ETa 999
(iii) TR ~ WG TFATersi qreh
(iv) 9REY - Fg&l qo-
(v) TERGUE - 91y

A  FrefaRaa s Feer givartem whenteiat & forg v aen 26 %
wor W foreel e a1 I AN - 1x5=5
L) 39 sy o A fofae siet sifemtaren s g gl

(i) 39 Ued 1 AW forfge el niefsht 3 THe Fw el
(ili) 39 T =i AW fafee sEf S -= geT utid gl
(iv) 39 UF &1 9w fafge saf grrdia g uw feom 2

E].g[il
B_".
[=]
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(A)

(B)

(v) 38 Usg 1 am fafau sel smam e oft s g
el

(vi) 39 U w1 9m fafae si@f e afwess et s
fedra B

(vii) HTET He s form et v e 27

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

- (ii) Vijayanagar - Iron and Steel Plant

Note :

32/1/1

(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port
(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 26. Attempt any five
questions.
(i)~ Name the state where Jallianwalla Bagh incident took
- place.
(i)  Name the state where Gandhiji violated the Salt Law.
(i) Name the state where ‘Chauri-Chaura’ incident took
place.

‘(iv)  Name the state where Paradeep Sea Port is located.

((v)  Name the state where Vijayanagar Iron and Steel Plant
is located. : _

(vi) Name the state where Noida Software Technology Park
is located. o

(vii) On which river is Sardar Sarovar Dam constructed?

10
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Map for Q. No. 26
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